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1. Suppose X and Y are Bernoulli random variables with E(X)=p, E(Y)=q and Cov(X, Y)=r.

. 1
Find E(—~ ). (10%
Kaver 0%

Suppose X and Y have joint probability density function f(x,y)=ce*”’, 0<x<y<1.(20%)
(1) Find c.
(2) Find E(XY).

Suppose X, Y, Z are independent and each is uniformly distributed over the interval (0,1). (20%)
(1) Find P(% <max(X,Y,Z)< %).

(2) Find P(XY >Z2).
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Standard Normal Distribution
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t distribution with right tail probabilities

tipa

dfip | 040 0.25 0.10 0.05 0.025 0.01 0.005 | 0.0005

1 10.324920 |1.000000  3.077684 | 6.313752 | 12.70620 | 31.82052 | 63.65674 | 636.6192

2 |0.288675 |0.816497 | 1.885618 §2.919986 = 4.30265 | 6.96456 | 9.92484 | 31.5991

3 1 0.276671 |0.764892 | 1.637744 |2.353363 | 3.18245 | 4.54070 | 584091 | 12.9240

4 |0.270722 | 0.740697 | 1533206 | 2.131847 | 2.77645 | 3.74695 | 4.60409 & 8.6103

5 |0.267181 |0.726687 | 1.475884 2.015048 @ 257058 | 3.36493 | 4.03214 | 6.8688

6 | 0.264835 |0.717558 | 1.439756  1.943180 | 2.44691 | 3.14267 | 3.70743 | 5.9588

7 0263167 | 0.711142 | 1.414924 1 1.894579 | 2.36462 | 2.99795 | 3.49948 | 5.4079

8 |0.261921 | 0.706387 | 1.396815 ' 1.859548 @ 2.30600 | 2.89646 | 3.35539 | 5.0413

9 | 0.260955 |0.702722 | 1.383029 | 1.833113 | 2.26216 | 2.82144 | 3.24984 | 4.7809

10 1 0.260185 |0.699812 | 1.372184 |1.812461 | 2.22814 | 2.76377 | 3.16927 | 4.5869

F distribution table for o = 0.05 F (05,01 ofe)
dfesdfi| 1 2 3 4 5 6 7 8 9 10

1 161.44 |199.50 215.70 224.58 230.16 233.98 236.76 238.88 240.54 241.88
2 18.512 |19.000 19.164 19.246 19.296 19.329 19.353 |19.371 19.384 19.395
3 10.128 |9.5521 9.2766 9.1172 9.0135 8.9406 8.8867 8.8452 8.8123 8.7855
4 7.7086 |6.9443 6.5914 6.3882 6.2561 6.1631 6.0942 6.0410 5.9988 |5.9644
5 6.6079 5.7861 5.4095 5.1922 5.0503 4.9503 4.8759 4.8183 4.7725 4.7351
6 5.9874 | 5.1433 4.7571 4.5337 4.3874 4.2839 4.2067 4.1468 4.0990  4.0600
7 5.5914 4.7374 4.3468 4.1203 | 3.9715 3.8660 3.7870 3.7257 3.6767 3.6365
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